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BEGHL10-7 BIZCW1Z60.TN.0BT 0., exposre L0 %0p  BEOIL 108 BI2CWL260-8N 08B o, 5, exposure +15 50ps
AM-test chart no. BEO3; Linearized scan with grid

Www.ps .bam de/BEG3/LO3ECONT. PS/ TXT, Start output
N: No Output Linearization (OL) data in File (F), Startup (S) or Device (D)
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e+0,0stop
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e-10t0p
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e+1050p

BEOY/L11-7 BI2CW1261-N.095 olv*, f, exposure +30 stops  BEOY/L11-8 B12CWI261-8N.096 0lv*. 1,

input: cmy0* / 000n* setcmykd|

BEO3/L11-2 B12CW1261-2N.090 olv*, f, exposure 2,0 ops

BEOYL11-4 B12CWI261-4N.092 0lv*, i, exposure +0.0 Sop.

N
621 Wvg k%

1X1'/Sd"TN003€071/€039-T060%700¢ -uonens!

siojuow pue siauud 1o} uoneolddy

2p02 :[euarew Nyg

vz
NS

Slide (left) and negggve (right) film with 7 steps of exposureoutput:no ch_ia_nge compared to input
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